#33)  4(x @7—)\ (X’B)Z(gxﬂ

u H/: [ClFies are  how ma "

64 e  <quwe  rods dere are
Fory exawple  thw are fwe pots g, we rah 3
See e amwers  Jor the Lyl awwer.

H34)  dake w ook ot A rectawgular cord - systeu
7 aud 4(5) = -9
X— ntere it Sine (7/&///1/5 a- /véylf
Lunctions are swooth

Contimitous  ecerves
e fwo /0/}10‘5 are
¥ S (5 --a> Connected | hence +he
(rle  WUAT  cpss the  X-axs ./
This is alo whot Intrmudivte Feon says
et be @ value ¢ Jrow interval [-a.5)
SULh 7[/@# //c) = [ f/x/ Ms a zew C |




